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QUESTION 1

Which two commands must be configured within the PGW-Service on the Cisco ASR 5000 PGW to enable the S6b
interface and provide support for I-RAT handovers between the 3GPP and non-3GPP access? (Choose two.)

A. interface-type interface-pgw-ingress

B. authorize-with-hss

C. aaa group aaa group name

D. associate egtp-service egtp service name Ima-service Ima-service name
E. gtpc bind ipv4-address IPv4 address

Correct Answer: BD

QUESTION 2

Which application protocol is used by the SWx reference point?
A. RADIUS

B. Diameter

C.TCP

D. GTPv2

Correct Answer: B

QUESTION 3
Which description of TACACS+ administrator authentication and authorization on the Cisco ASR 5000 is true?

A. The Cisco ASR 5000 uses a privilege-level attribute value pair to restrict users to command sets that correspond to
their assigned administrative role.

B. The Cisco ASR 5000 uses a privilege-level information element to restrict users to command sets that correspond to
their assigned administrative role.

C. The Cisco ASR 5000 uses an administrator-level attribute value pair to restrict users to command sets that
correspond to their assigned administrative role.

D. The Cisco ASR 5000 uses an administrator-level information element to restrict users to command sets that
correspond to their assigned administrative role.

Correct Answer: A
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QUESTION 4

Which three options are charging characteristic selection modes for S-GW/P-GW? (Choose three.)
A. home default

B. visiting default

C. APN specific

D. roaming default

E. subscription specific

F. serving node specific

Correct Answer: ABD

QUESTION 5

Exhibit:
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3

#exit
aza

radius
radius
radius
radius

radius

radius

radius
#exit

aaa group
radius
radius
radius
radius
radius

radius

radius

radius
#exit

radius

radius

radius
#exit

aaa group
radius
radius
radius

#exit

Context Gi-Context-1

apn pgw-test

ection-mode subscribed

ip address pool name pgw—ﬁao1—1
authentication msisdn-aut
apn-ambr rate-limit direction downlink burst-size auto-readjust duration 1 violate-action drop
apn-ambr rate-limit direction uplink burst-size auto-readjust duration 1 wviclate-action drop
ip context-nane Gi-Context-2

mediation-device no-interims delay-GTP-response

roup radius-1
radius accounting deadtime 1

accounting max-retries 0
accounting max-transmissions 4

attribute nas-ip-address address 192.168. 58.

attribute nas-identifier DNGS0-NGME-1

no radius accounting archive

dictionary 3gpp
server 10.24.59.75 key ciscol port 1812
accounting server 10.24.59.75 encrypted key

radius-2

accounting deadtime 4
accounting max-retries 2
accounting max-transmissions 5

attribute nas-ip-address address 192.168.58.

attribute nas-identifier DNGBES0-NGME-1

no radius accounting archive

dictionary 3gpp
server 10.24.59.76 key ciscol port 1812
mediation-device accounting server 10.24.50

Context Gi-Context-2

aaa group radius-3
attribute nas-ip-address address 191.167.57.

server 10.0.133.10 key ciscol port 1812
accounting server 10.0.133.10 encrypted key

radius-4

attribute nas-ip-address address 191.167.57.

server 10.0.133.11 key ciscol port 1812
mediation-device accounting server 10.0.133

198

01abd002c82blaZc port 1813

lo8

.76 encrypted key 01abd002cB82bd4aZc port 1813

190

0labd002c82biaZc port 1813

1951

.11 encrypted key 01abd002Zc82b4aZc port 1813

Refer to the exhibit. Which aaa group must be associated with the APN pgw-test?

A. radius-2

B. radius-1

C. radius-4

D. radius-3

Correct Answer: B
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